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A. Listen and circle. 

B. Listen and check ( ).

C. Listen and circle the correct words. 

D. Listen and write. 
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James isn’t wearing a __________.

  a   sweater
  b   hat
  c   coat

He’s wearing (boots / gloves), but 
he’s (wearing / not wearing) a coat. 

A: ________ you wearing ________?

B: No, but I’m ________ _________. 

A: __________ are you __________?

B: _______ __________ a coat. 

Annie is (wearing / not wearing) a 
sweater but she is (wearing / not 
wearing) boots.

The boy is not wearing his ________.

  a   coat
  b   scarf 
  c   boots 
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